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4. A firm faces the following average revenue (demand) curve:
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where Q is weekly production and P is price, measured in cents per unit. The firm’s cost
ﬁmmon is givenby C = GOQ +25 000

.000. Assume that the firm maximizes profits.
What is the le\ el OfPl on ,._,_- andt otal profit per week?
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If the government delew atax of 14 cents)

per unit on this produet, what wi
be the new level of production, price, and profit?
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~———,
.2 - v
w ] b B

LML'*?“’ :
G OF




\/‘/ S /7 )
— -\
Io " J AR=Y= 14 -2
Q_
Calculate the firm’s s marginal revenue curve.
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